1. Which one of the following is NOT Correctly
matched ? ’
(a) Ashfaqullah Khan - Kakori Tr&”
Robbery Ca5¢
(b) Khudiram Bose - Assembly Bom
(c) Shauk gase ur
au i — Kan
at Usmani cgngpiracy Case
(d) Surya Sen — Chatgaon Revolt
Case

2. What is the rank of India in
¢ Security Index, 2021’ ?

(@71 @) 83
~ (c) 54 (d) 62

3. Match List - I with List - Il and select 0
correct answer using the code given below

the lists :
List - I List - 1I
A. Acetic acid 1. Ant’ssting
B. Lactic acid 2. Spinach }_';
C. Formic acid 3. Vinegar
D. Oxalic acid 4. Curd g |
Code : AN :
A B C D %
@4 3 72wl &
B3 4 1 2 &
©1 2 3 4 E
@2 4 1 3 h ’

4. Which French traveller called Kashi as

‘Athens of India’ ?
(a) Tavernier
“(c) Thevenot

(b) Manucci
(d) Bernier

‘Global Food

i
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§
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(a) FRBIFEE G “Wﬁfﬂi‘&lr@%;
(b)'{gﬁ]‘{mm “@Wﬁmm
(C]Hﬂﬁﬁm -Wq@-ﬂm
(d) G - T R wme
2. 3R W G GEHF, 2021 % v Ay 4y
TG 7
(a) 71 (b) 83
(c) 54 (d) 62
3. et -1 geft - 11 % gifer Afr 7o g
& 49 @ ™ 5e @ vl smoghe
Tt - 1 gt - I
A. TR 3 1. < % <%
B. wiffes 3T 2. UGH
C. BRIYSH I 3. R
D. 3R 3 4. @
H2:
A B C D
@4 3% 21
M3 4 1 2
©1 2 3 4
@2 4 1 3
4. Frg widdt ant 3 Sl B R W
el 91 7
(a) TRERR (b) T
() T (d) S
s Pl § & H-a o O W A 8
gg'@’m%7
(@) 75 R (b) Fie®
(c)?lTﬁ"TFIT (d)aﬁ%m
Wit § @ e o et & g0 o A
o1 7§ & e 18 T T T T
: (b) 887

(@ 61
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7. Knock-Knee syndrome results due to 7. A=A figm e QT % R R 7
pollutmq of i b) FFeRe
(a) Fluorides (b) Phosphate (a) AT (
(c) Heavy metal (d) Nitrate =~ (c) wilt @1d (d) 2
8. In which. of the following Puranas, the five [ 8. frefafad 3 § form g i, E(l'“ﬁ % e we
Charfactens‘acs of the Puranas are mentioned ? &1 St firererl & 7
(a) Vayv_l (b) Matsya () Y (b) T
() Vaman () Vishnu (c) AT @ 7
" 9. ‘Match List - I with List — I and select the | 9. el ~1H “:qp' ~1d ‘gﬁfﬁﬂ e I{ﬁﬁ
:ﬁzrfig:sa'ngwer from the code given below yI=fa ™ R SRR R
List-1- List - II -1 -
' (Blue Flag Certified (Location) (LTI (i)
Beach) = I E)
, A Ghoghlé ‘ 1. Andhra A EEET 1. a9 weq
Pradesh $ - B'el?l'aﬁ‘:‘g 0. A
B. Kasarkod 2. Kerala S5 '
{ C. Kappad 3. Karnataka . C. T8 3 e
. D. Rushikonda 4. Diu D, RIS 4. ¢a
~ Code : Fe:
A B C D A B C D
(@) 3 4 2 ¥l a3 4 2 1
by4 3 . | m4e 3 2 1
)4 3 ) Bt . )4 3 1 2
(d) 3 4 1 2 (d) 3 4 1 2 -
10. The provision for Ar}llti P:}fecgiﬁnw@r‘:; 10. NRG & gfau= ¥ Petafea A 7 fxa 313*"[?& q %
: - i ich of the followl Y
gcﬁﬁﬁféirlﬁhlf cﬁﬁéﬁmﬁon of India ? - freh aifef 1 e & 7 ‘ﬂﬁ s
@) 117 (b) 12 (a) 114 (b) 127 %’éf’
@or .9 10 Nk 0o P
F11 clude which of | 11, m#ﬂ:ﬁl%%ﬁ#ﬁmﬁﬁ el A
i 7 - 5
1. STTh (o~ 'O
2. @ﬁ-‘m S -0
o 3. i R™P
he code 4, qratemn
Y fd e @ W I IR
H2:
(a) 2 3R 3 (b) 2 34
() 132 (d) 13M3




12. In the battle of Chan

13.

14.

15,

‘w\_’_

- 16.

cE) King

dawar (1 194mad Gorl-
dawar 1S

of river Y2BU22
Of river Gaﬂg
the bank of

Jaichand was defeated by sz

Present geographical Jocation!

(a) Kannauj, U.P. at the b

(b) Varanasi, U.P. at the b "

(c) Etawah district in uU.P.
river Yamuna _

(d) Prayagraj district I
river Yamuna

u.p. at the bank of

i of India
In which of the following States

' 7
‘Chitrakote waterfall’ 1 locatel(:hand
(@) Chhattisgarh (D) Jhar -
(c) Uttar Pradesh  (d) Madhya

t the
Match List - I with List - If and s:rllc; o
correct answer from the code &V

the lists :
-1
List -1 l[;'i:tu i
Cod el
( °! Introduction)
A. Code of Civil Procedure [ 1862
B. Indian Penal Code 11. 1859

C. Criminal Procedure Code IIl. 1861

D. Police Act v. 1487607"'3

Code : A
A B C D e g8

(@ I M IV I

) m v 1n1

@ I v 1 1

e ¢

b

d v 1 1 1 M )

- g
1‘_

Which of the following pairs represent units
of the same physical quantity ? =

(a) Kelvin and Calorie

\<-1
J'_}: !

L 'iﬂ:. ':_F

(b) Newton and Calorie e
(c) Kelvin and Joule i
(d) Joule and Calorie P

E{'v- .':\ . l
By which Constitutional Amendmeng -+
was added in the Indian Consﬁmﬁ?n?n{B.
(a) 93™ Constitutiona] 2 dmcntn

(b) 97 Constitution
(c} 52 Constitution
(d) 73" Constitution

12, FEHRH I (11943.) 1o s

13.

14.

15.

16.

EEST ‘0‘

mwnmawﬁqﬁ%‘?&jﬁg
(@) B, 35 T T T § \
(b) ST, 3.5 & 7Im T ¥ 2
(c)s.n.%mmﬁmm%mm
(d)lg'%mmﬁmﬁ?ﬂ%am
f;??;ﬂm ?m%ﬁqﬁ'ﬁ“ww

(a) BYiaTg )
(c) I 7w () m““@ﬁmug

F@—liﬁ}'@_“@m
T -1

T -n
(Fr=)

(FwLER

wad)
I 1862
Il 1859
1. 1861
IV. 1860

A. FrE 375 fafer Widfisw

B. ifea fi7et w13

C. firftet i #re

D. gfem

L T4
A B C D

(@) M mr w1

by W v 1 1

© I IV 1 1
d v 1 1 m

yridl T Wb s R 7

(a) FFe w@ &

(b) A @ Fed

() Hfem @ 9@

(d) @ @ el
mmﬁmﬁmﬁmm%m
g X B IS T

Faurie HAGT

(a) 939 & ;
(o) o7 o FwE HT
() 52 & 3D g

() 73 5 FATHS E

17.

18



18.

19.

20.

21,

» Which of the fo

1. It was celebra

2021 ted on 23~

OCtober,

Select the correct an

below : SWer from the code given
Code : !
(a) Both 1 and 2
b .
(c) 1 only (b) Neither 1 nor 2

(d) 2 only

With reference to Delhj

Sul .
the following statement tanate consider

S.
1. Sultangarhi was built by Sultan Htutmish.

2. Located in Delhi. it is th
. s e first t
built by Turks. e

Sfalect the correct answer using the code
given below : '

Code :
(a) Both 1 and 2 (b). Neither 1 nor 2
(c) Only 1 (d). Only 2

What was the theme of the 40" Indian
International Trade Fair held in November,
20217 '

(a) Vocal for Local

(b) Atmanirbhar Bharat
(c) Is of Doing Business
(d) None of the above

Which of the following Article makes
provision that “the law declared by the
Supreme Court shall be binding on all the
Courts within the territory of India” ?

(a) Article 142 (b) Article 143

(c) Article 140 (d) Article 141

Which of the following APP is introduced

by the Election Commission of. Indi? ;;11
October, 2021 for digital mapping ©

polling stations ?
(a) Trishul App
(c) Arjun App

(b) Chatbot ApPP
(d). Garuda APP

17.

18.

19.

20.

21.

Ui I T, 2021 ¥ 5
ﬁﬁﬁq—m/ﬂmm%/;fﬁ et
1. ¥ 23 IR, 2021 H w4y gy |

i T3 T e ¥ 9 I uf

w2

(a) 1 3 2 gl () 39 13k 38,
(c) et 1 (d) e 2

feweht geaa & we # Fefafan wert w fiay
i |

1.@@1@%%@@&;@

=A™ T |
R b A E R e ——

F2 A T F2 T W TE IW W 7w
Hife

e

(a) 1T 2 QI (b) A 13L& 2
(c) Fae 1 (d) T 2

TErE, 2021 ¥ €O g2 409 WA SR
R A 61 i = ot ?

(a) SNH I A

(b) IreRtNR A

(c) 3 % g3 feerra

(d) ST H | g T

e & ¥ - IR a8 EuR F ¢ 1
A =TT g B T W % A
¥ i wft = % R A gm?
(a) 3T, 142 (b) TG 143

(c) IIF=T 140 (d) IR 141

i % g i g S, 2021 § 9
Wﬂ%%ﬁzﬁﬁﬂ%ﬁﬁﬁ"ﬁmﬁ
F-mmgs e
(e) Preget R (b) ST
(c) 37 9 (@) TS T




| 22. Which of the follo

23,

4.

25,

wing aré
powers of the Lo abha P
1. To introduce the Money B1 e‘
2. To ratify the geclaration ©
3. Topassa motion of B° con
against the Counci of

4. To impeach against
ct answer fro

esident:

m the code
Choose the corre
given below :
Code :

(a) 3and 4

() 1and 3

Who among the followingis the Chat
of GST Council ?

(b) 1 and 4
(d) 2 and 3
rperson

* (a) Union Finance Minister

(b) Deputy Chairman of NITI Ayog

(c) President
(d) Prime Minister

the Vikramshila University

With reference to :
ements is/are

which of the following stat

correct ?

1. Vikramshila was one of the most :
important centre of learning in India_

during the Pala period.

2. Rakshit, Virochan, Ateesh, Deepankar
and Ratnakar Shantiwere veryimportant
Acharya of Vikramshila University. :

Select the correct answer using the code
given below : :
Code :

(a) Both 1 and 2

(b) Neither 1 nor 2

(c) Only 1

(d) Only 2.

Which of the following sea is‘-"‘Si.t‘liat d
between Philippines and Vietnamp . e
(a) South China Sea T R
(b) Celebes Sea e
(c) Philippines Sea , o
(@ East China Sea N

22.

23.

24,

25.

ﬁﬂﬁﬁﬂﬁﬁaﬂ?—ﬁm 4
37 SR % g
1. v fdas =1 99 = |
Q.meml
3. AT % g fvam e

it

CERRRER TR R RSO
%he .
(3)331}{4 (b)ISﬂ'{4

= 4 & R Shem. . viwg = sme g d
(a) T foraft

(b) e 3T 7 IUTEAY

(c) Trsgfa

(d) et

frsrRren Rvafeed & wed & feforfe 43

F-71/8 F 6 8/2 7

1. W & vt e § Rrsenfien T weeEy
HERA 5, U1 | '

2. i, flm, i, SR T TR i,
frsraren Rraare & o e
e 9 |

43 R T T TN HH T IR T

iR : '

w2

(a) 171 2 QA

by 1MAT2

(c) aa 1

(d) e 2

W%ﬁaﬁﬂﬁmﬁﬁﬂﬂ-ﬁf

g fed e ?



26. The unit power P_ of a turbine developing a

27,

(&) compensating errors
- (b) systematic errors-

28.

. of stationary object considered is

29,

~ 2. Chlorination

(¢ 5,1,2,3,4

30.

(@) 90 hr.

{c) 10 cm_

power P under a head H is equal to

(a) P2 (w) l;
A

r _
© — (d) PVH
H 2 - 3

Errors arising from carelessness of the
observer are known as

(c) mistakes
(d) discrepancy

For non-passing sigilf distance, the height

(@) 50 cm (b) 65 cm

(@) 15 cm

Various water treatment processes are listed
‘below :

1. Filtration

3. Sedimentation
4. Coagulation
5. Flocculation

The correct sequence of these processes in
a conventional water treatment scheme is

(a) 3,4,5,1,2 (b) 1,3,4,2,5
(4) 4,5,3,1,2

If the base period of a 6 hr. unit hydrograph
of a basin is 84 hr. then, the base period of
a 12 hr. unit hydrograph of the same basin
will be

(a) 72 hr.

(b) 168 hr.
(d) 84 hr.

EEST - 04

. A H
26 Wﬁﬁ@mﬁlﬁuﬁq%mm
P
(a) PH% ®) ;%
i @ PB

() H%
B
(a) mRrgfd 3R
(b)ﬁ-lﬁ'ﬂﬁgﬁ
(c) Tl
(d)

| ofed g % o, R Rg Y S A
2
(a) 50 €. 1. (b) 65 €.
(c) 10 F.1. (d) 15 &1,

. b= s e wiead 9= gEeg €
1. Freaem
2. Tl
3. Fagred
4. Thed

5. WFATH ®
YRR e A AT 3§ 38 wisna & |et
EL R
(@) 3,4,5,1,2 (b) 1,3,4,2,5
(€)5,1,2,3,4 d) 4,5,3,1,2

. T ARA T 6 w1 7T FrRSE Y R I
84 U R I, 12 U THE RS A AN
Faty 3h Ifm F forg Eft
() 72 e (b) 168 &I
(c) 90 1 (d) 84 d
I Y T 1 Y= W FA B T
(@) S Tl faf =X
(b) s et &1 37 H
(c) WTgH et fafer s =X ‘

(d) 3reafies = IgER R



38.

.

.

32, }Vhile testing for COD of sewage, organic matter |
18 oxidised by K,Cr, O, in the presence of

(a) HNO, (b) HCI

(c) H,80, ~ (d) None of these
33. Indian Road Congress was formed in the

following year

(a) 1939

(b) 1943
(c) 1929\((1) 1934

34. If 'f’ is the focal length of camera and %’ is
the tilt angle, distance of the photo nadir

from the principal point will be
(a) ttan 6 (b) tcot®
(c) tsin® (d) tcos®

35. Which of the following is one of the factor

influencing the provision of camber ?
(a) Sub-grade characteristics

(b) Drainage

(c) Topography

(d) Amount of rainfall

36. Benkelman beam deflection mcthod is used
for design of

(s) Flexible overlays on flexible pavements
(b) Flexible overlays on rigid pavements
(c) Rigid overlays on rigid pavements

(d) Rigid overlays on flexible pavements

i i be used to control

¢ device which can .

il ';:scouu aa’wdl as particulate pollutants in
the industrial emissions is known as

a) Fabric filter

Gb) Dynamic precipitator
(c) Spray tower

(d) Cyclone

The discharge through a V-notch varies 5

36.

37.

38.

(where, H is the head)
el y
m-u% ' (b) s =
(o) u%‘ (d) H? |
B : _ e -8-}

EEST

32. TEIE % COD ¥ wliaw i %
K,Cr,0, & S 1 &, B9 6w
(a) HNO, (b) HCI

(c) H,SO, (d) 9 } 5 7

33. mmx@a;ﬁmﬁqﬁmn

3
(a) 1939 g’_:: (b) 1943
(c) 1929 39 (d) 1934

34. 3R T FR F v g0 & 3N ¢ gFa wh

al g&7 fag @ wiet TR (nadin) i g g0
(a) ttan 6 (b) tcot®
(c)tsin® ] (d) tcoso

35. Profeafaa § | S19-91 0 & Jraur S

FATAFA T ATHE 7

(a) 3T FIfE F fagrarg

(b) FAFTHTE il
(c) TIEATHfd G
(d) =it & wTE g8

SR
el i fadqu 6 fafy o= & afderee 3
fera
(a) T FH W T ETT
(b) A Ffgw 9T T8 Hrawr
(c) TN FEW G AR arrawor
(d) T Hfew 9 FI T

ag wua fored e & wra wfvrew o wgeE B

et seasta @ fFrg=m w8, 38 FEa §
(a) FIS1/&HfE freex

(b) Mfeehte Srads

(c) & 2

(d) I - |

T v-ATe & frea fremger g @

(gt H ¥ ) L .

(a) H% e

() H% : (d)"H%



39.

40.

41.

42,

43.

45.

: “ (a) spectomy

An unconformity is

(a) A layer of clay or shale in an igneous
mass

(b) A type of joints especially associated
with folded and faulted rocks

(c) A surface of erosiorr or non-deposition
as detected in a sequence of rocks

(d) A layer of boulders and pabbles in a
sequence of rocks

Which one of the following specifications for
the length of base line refers to “third order
Triangulation” system ?-- ,

(a) 5.0to 1ISkm —

(b) 10 to 20 km

(c) 0.5 to 3.0 km

(d) 1.5 to 5.0 km

Which one of the following methods can
be employed for plastic and rubber waste
disposal ?

(8) Pyrolysis
(b) Incineration

(c) Sanitary landfill

(d) Composting

Geostationary satellites have,

(a) same mass as global weight

(b) same angle with geodetic stations
(c) same distance from earth’s centre
(d) same speed as earth’s rotation

If the base period is 100 days and the duty
of the canal is 1000 hectares per cumec, the

depth of water will be, = - -
(a) 86.4 cm (b) 864 cm
(¢) 0.864 cm (d) 8.64 cm

The mechanical extra widening required for
10.5 m wide pavement on a horizontal curve

of radius R meter is given by

g 31°
@R ®) ok
2. ;] 21°
C) R @ 3R

where, 1is the length of wheel base of the
vehicle in meters. 4

The observation of two photographs
simultaneously is called : 7

(b) stereoscopy
(c) orthography

(d) spectrometry

EEST - 04

39. U AIgEAddl (unconformity) B

40.

41.

42,

43.

44,

45.

(a) 3R geEdA H ) 1 A A v \

(b) TF TE FI A1 RTH T wies qo Free
. qrelt 9gE &

(c) g o 3TTHH H AT T &R A A-Fd
@+ Hag

(d) S % s # Hest AR FHg 6 @ v

et it gt 3 R ST v
Bt =fae

(a) 5.0 & 15 f.a.
(b) 10 & 20 fR.H.

(c) 0.5 % 3.0 f.7f.
(d) 1.5 & 5.0 T

wifers auT Ws & AURTe % fFvem ¥ fag
-t fafts ) S S HHAT 2 7

(a) ITSUTH

(b) M <&

(c) At s WU

(d) Trg Fmior

YRR STEl A 2T ]

(a) AT YR & TH FTTH

(b) RrERfes RyAl % Y gue HIu

(o) T % 35 @ o g B¢y it
(d) 7e 3 g wHe TR (o6®

AR T F1 B (Duty) 1000 S /g T
mlooﬁq%,aﬁmﬁﬁﬂsﬂé‘@’ﬁg@

(a) 86.4 9.1, b) 864 @M. _o°C"
(c) 0.864 &.1f. d) s.e4dd. [
10.5 . =2 gfen W, &l & Ay 3% R 1.
B w1 2, FLR 33}@? reré fifeea &M
12 =+ >3IR 312
12 y 2
© 0= @3
SR 190, & i % afee- o B T €
U WY 3 el 1 e Fead g
(a) RFEnft (b) e
(c) Tty (d)



46.

. departure of the line AB will be,

47.

48.

49,

- photograph will be

50.

51.

o

If the reduced bearing of a line ABis N 60°W
and length is 100 m, then the latitude and

(a) + 50 m, — 86.6 m L= 14500
(b) + 70.7 m, - 50.0 m 192 50
(c) + 50 m, + 86,6 m oo 13
(d) + 86.6 m, - 50.0 m Zz

The product of traffic density and traffic
speed is termed as

(a) Basic capacity

(b) Traffic volume

(¢) Traffic capacity
(d) None of the above

The flow velocity in a sewer does NOT depend

EEST -,

46. T 1@1 AB 1 ftexd e (Reduced bear
N60° W & et &g 100 3. 2, @ ARy
éﬁ?@ (Latitude) 2T fEgr=i (Departure) §
(a) + 50 H., - 86.6 Hi.

(b) + 70.7 ., - 50.0 i,
(c) + 50 7., + 86.6 H.
(d) + 86.6 #i., — 50.0 .

47. I Bed 3R AT A F E (I
I %l off e @
(a) T &HeT
(b) ITATA <t HIAT
(c) ITaTTd T &HAT
(d) S & ¥ IS &

48. W& Hiew ¥ yarg 9 fft = +ear 2

@ hydrauli depth V’Q/« N (a) ST BTSSR ATeR MR W
(a) its hydraulic mean dep 215 - = A
(b) its roughness \” 3: (b) 8 g-{;:':q

(c) its grade (c) Tgh! -

(d) its length (d) HH TaE |

A camera equipped with a 152 mm focal
length lens, is used to take a vertical
photograph from a flying height of 2780 m.
above mean sea level. If the terrain is flat
with an elevation of 500 m, the scale of the

F.

49. 152 fydt. wiher Y 4 oF TH FHU T I9G
Tz & IEd wag § 2780 . f I A ww
Seatet aefit 9 % e fean s & 1 AR
qae @ 3R 500 X At S W g R, @

(62 HIRITE I That Bt

S:-——— '__-——"'
(a) 1:22,000 (b) 1:24,500 'Y-h (a) 1:22,000 (b) 1:24,500
{e) 1: 15,000 (d) 1:20,000 (c) 1: 15,000 (d) 1:20,000
The natural process under which the flowing |- 50. &t wrpfoe fafr et AT §AT A4 T 9l 916
river water gets cleaned, is known as 3'1 1T -a’ ﬂﬁa %
' -{a) Oxidation | (a) ATFHIHT (
(w) Self-purification (b) vm‘m_ oy
(c) Photo-synthesis () FHRRI-HEeww
(d) None of these (d) ¥ & =i i ¢
' Switch angle depends upon 51. oo = s
i. Heel divergence i A &+ hag W .
ii. Length of tongue rail ii. S i 1 oard i i
iii. Flange way clearance il A gy G :
iv. Throw of switch | v.fmEHs -
: .The correct answer is - o HE EE E K e SR
e @ydifandiv 0 (b)iandiv (a)eiii TT iv (b} iU iv.
(c) i and ii (d) iiand iii - (c) iT™Tii

-10-

(d), ii O iii



53.

54.

L3

55.

6.

T

Based on ‘30 hourly volume, f,
.muc‘h pchfm_t time during the year C;nl'l&\,\é
designer wxllmgly tolerate-the un fiVonrat]
opcrating conditions ? e
(a) 5.0 (b) 30

(c) 0.33 (d) 2.5

[n a sudden contraction, the velocity head
changes from 0.5 m to 1.25 m. If the
coefficient of contraction is 0.66, the head

loss in this contraction is g

(a) 0.644 M (b) 0.648 m
(o) 0.133m (d) 0.332 m
Salinity of water

(a) Does not affect evaporation

(b) Increase evaporation

' (¢) Reduces evaporation

(d) None of the above

The following surveys are conducted before
the alignment of a railway track.

1. Reconnaissance survey

~ 2. Preliminary survey

3. Traffic survey
4. Location survey

The correct sequence in which these
surveys are conducted is

(@) 3,1, 4,2 (b) 3,1,2
('C)"'I;'S;"S}',’dr (d) 1, 3, 4,

N

ad

locity of flow in a

If ‘V) is the critical ve v in.
to Kennedy, 1ts silt

channel, then according

transporting power is proportional to
S 7

@) vo/z (b) v0/2

' | 3
© y /2 %

A @ v,
Which of the following is 2 gecondary air
pollutant ? '
(a} Fly ash
(b) Smog

(¢) Carbon monoxide

~ (d) Carbon dioxide

-

. 41 4 -0

52.

53.

54.

55.

56.

57,

-11-

(C) 19 3, 2,4

"’\ﬁ'

EEST - 04

=3oa%"wamﬁ=mtanmﬂﬁﬁmmuﬁmm
s | H, JTfreeTeh TTOT | HE W S IHH!
it A 8 ?
(a) 5.0
(c) 0.33

(b) 30
(d) 2.5

STaHF T (contraction) JarsosH @

1.25ﬁ.ﬁwmﬁlﬁ§ﬁqwﬁvﬁ$o.6e
%|wé§aﬁﬁsﬁﬁzﬁraﬁ%

(b) 0.648 Hl.
(d) 0.3327.

(a) 0.644 .
(c) 0.133 H1.

qift 7 wraurn (Salinity)

(a) ST Y T Tl HA
(b) TSR TG &

(c) TSR A AT R

(d) IR & | HIE TR

W%%éﬁwﬁ%@ﬁﬂ%@ﬁaﬁm%&
SiG ]

1. X&) gae

2. v adel

3. AT Gael

4, TIH GA&l

& v e & gdeor e S €

(@) 3, 1, 4,2 (b) 3,1,2,4

d 1,3,4,2

qﬁ‘vo’%sﬁéwﬁmwmﬁgaﬂ%,
N IS F ITER R T (silt) TREEA A

A Bl @ Vo -;\\;-%
(a) Vo% o Vo%
vy " @ v,
(a) wTg & - |
(b) & -

(c) e HRy

(d) F sréamaTEe



fi

S8.

59.

The tower’s used in triangulation are known
as

(a) Captain McCaw
(c) Heliotropes

(b) Hunter
(d) Bilby

- Which amongst the BOD and COD of glucose

- water is greater i

60.

61.

62.

63.

64.

65.

(a) BOD
(c) Both are éciual

(b) COD
(d) None of the above

Exit gradient is directly proportional to
(a) Creep length

(b) Seepage load

(c) Depth of cutoff

(d) None of the above

The permissible error in chaining for
measurement with chain on hilly terrain is
(a) 1 in 500 (b) 1in 1000

(c) 1in 100 (d) 1in 250

Which of the following is NOT a method used
for plane table surveying ?

(a) Traversing method

(b) Radiation method

(#) Back scattering method
(d) Intersection method

If a 2% solution of sewage sample is incubated
for 5 days at 20°C and the dissolved oxygen
depletion is 10 mg/L, then the BOD of the
sewage would be
(@ 500 mg/L
(c) 50 mg/L

(b) 2000 mg/L
(d) 200 mg/L

The zero graduatlon ina prxsmatlc compass
is marked in the,

(a) In the South end of the circle

(b) In the West end of the circle

(c) North end of the circle |

(d) In the East end of the circle

The product of H' lons and OH ions in a
trongcrAlkah is

(a) 107

(c) O

(b) 107 .
(d). 1

58.

59.

60.

61.

62.

63.

t "

64.

65.
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EEST

e # IudT o arelt HAR Heard 8
(a) e BAeFhd (b) B
(c) R (d) foreelt

@iyl # BOD 3 coD # @ aft
B 7 CGHu.OG

(a) BOD (b) COD
(c) THT aTER (d) ST F & F)

ufre Aftte (Exit gradient) T8 SgaT
(a) Tsr <t TS &

(b) diuw @I 9

(c) e I TETS A

(d) Iu0d B | HIg T8l

TETS! T WAl gry AT 8 gff A A
Bt 8

(a) 500 ¥ 1
(c) 100 % 1

frafefaa ° | S-H @H-39a gaer
* fore s 7 g @

(a) AEREA (Traversing) fafa

(b) fafstr (Radiation) faf¥

() & Thefir Rif

(d) 98 (Intersection) fafly

qATd A3 W 2% =i 5 o & fom 200
SRS A T ST A w10 B

(b) 1000 ¥ 1
(d) 250¥ 1

3, < wewe @1 BOD @m St R12
a) 500 fran. /<. (b) 2000 firo. /Eﬁ
(c) 50 fr.am. /=i, (d) 200 fyam. /.
i o # 3R wew w0 R
T R

() T T ST BR

(b) T L YIEH BR

(c) I9 1 I BR

(d) T 1 T BR

T wifFawe & i | amn qUT OH ™ X
TOHGA BT 8 ‘

(a) 107 (b) 107

(c) O vt (d) L G
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The «rack modulus’is an index of

66- of which of the following 2 measure | 66, = & feperenl D R “IF AZAR” 7
" (a) Resistance due to deformation (a) TR ¥ HROT AU
(b) Resistance due to rolling (b) W ¥ T 370
() Resistance due to friction] (©) B SEY
(d) Resistance due to shear n % T S
67. A ;“;;::E:l‘i’f‘ist Sg‘(;‘;;i“é :;E:Jsmﬁed as adeep | 67. Th A7Ere Y ST T TH TR TR & w9 o
TIEL T e v g 8, e TR T %
@) lom (8). 3.0 m , i 21
| (a) 1.5 . (b) 3.0,
(oFiei i)i2m (c) 0.6 H. (d) 1.2 7.
6. Aerosol is known as 68 St arf 2
~ (a) Diffused liquid particles ' ot R
(b) Finely divided particles of ash (a) 5
() Carbon particles of microscopic size (b) T@ &+ gEH ferfera <ot
- (d) Dispersion of solid or liquid particles in (c) T VT T HEH Loy
oy ar ' (d)aﬁﬂmaawﬁwsmﬁﬁw
‘69. The pressure in “Pascals” at a depthof 1 m | 69. foreht st frvepra <1 g Fag @ 1. 9= H s
below the free surface of a body of water will T “qrERe” R ¥ STEC B
‘be equal to -
(a) 981 U=

(a) 981 Pascal

. (b)"9810 Pascal (b) 9810 |TE=hel
" (c) 1 Pascal (c) 1 UTEhcl
(d) 98.1 Pascal (d) 98.1 UTEhl 123 (l —E'%)
70. If 5 day 20°C BOD of a waste water sample | 70. afe R 99 TR w5 fe1 20°C BOD
is 127 mg/L, then the 8 day 20°C BOD of 107 fram, /e, &, e o 1 8 fm 20°C BOD
the same sample is (f K = 0.2347 ©25e ) | g} 7 (R K = 023" (I €) ¥
. (a) 162.6 mg/L (b) 166.3 me/L @) 162.6 Fm. /. (b) 166.3 B /.
(c) 146.3 mg/L (d) 156.3 mg/L (c) 146.3 T /<fl.  (d) 156.3 foyam. /.
71. Recirculation in «pctivated sludge Pfocess” 71, “TFAE O fafey o qA: =R ﬁﬁﬂ%
is done to (@) T I ST =Tied T&T |
 (a) Operate the plant contin_uousbf L (b) TS ¥ i s Q@
Sl oo e s (¢ TR ST R A T
(d) Dampen the effect of the flow variation | (d) ¥a18 q-ﬂ-qﬁ:{ ¥ VT Bl T
72. The alum added as 2 coagulant in water | 72, S IR 3 ford T 35 5 i frend it e
. treatment functions when the raw water 18 wien e § 9 el I &
(a) Alkaline with high turbidity (a) IT TigeAgA & WY L)
(b) Neutral with low turbidity ! G (b) T TEeaA & WY SEEFCe
" () Acidic with high turbidity () TS TeE % T I

(d) = T % WY

(d) Acidic with low turbidity
‘ - -1‘3j 241



73.

If the length of a chord/arc is 20 m in a
curve, then the relationship between R and
D in the curve will be

74!

The maximum value of centrifugal ratio on

 roads and railways, respectively are taken as

75.

(Oi%, an'd"%s' (b) 1 and Y%

(<) }/6 and }/8 5 (d) None of the above

The lost time due to starting delay on a traffic
signal approach is noted to be 3 seconds.
The actual green time is 25 seconds and

- amber time is 3 seconds. How much will be

. 76.

the effective green time ?

(a) 29 sec. ~ (b) 35 sec.

(c) 19 sec. (d) 22 sec.

In GIS, interpolatibn is made possible by a
‘principle called, ‘

"4} (a) Thematic auto correlation |

(b) Thematic auto-correction -

.. - (c) spatial auto correlation

(@) spatial_auto-corredtion

77!

' Stuidge bulking can be controlled by

() Aeration

s 78"

§2079.

o (d) Coaguiaﬁdﬁ"_

7" jts outer edgc is ‘40 cm higher
: . elevationis din - ol

(4 Denitrification

Vs (c)\Chiori'nat“_ivdn;-;,',-'H A f R

' the camber provided on a sloping road i
©" 1 in 48. Which one of .the follpwiig' ?:il:: '
5 mliﬂg gradient ? ; (it el 43

(a) lin24 & 7 () 1iin308 &

f the width of the highway is

- 10'm and
 the super

579

73

EEST - 04

oft et a6 7 =/Sfen i g 204 R 4,
a'mmaﬁarraaﬂtaiw/%mﬁwmg\m
et anfee RAA FEA DR 7

(a) R=1146D (b) R= D‘-
i 1146
© R=22 @ R=——
D ‘D
74, WWWWWWWW
wH B :
@Y, Y Y, @ Y
© Y @ Vg (d) ST & & B TG
75. @Wﬁéﬁﬁﬁgﬁmaﬁmwm

76.

77.

78.

3ﬁaﬁmﬁmmiwmmzsm
%wstﬁﬁr—zala‘rmmm
fepam &1 7 |

(a) 29 8. (b) 35%.

(c) 19°®. (d) 22 4.

.38 wm. 3, © fgia g ST H W
T S & P e ST 8
(a)ﬁﬁﬁﬁiﬁmmﬁ

(b) AR I HFTH

(c) TrEe 3T T

(d) AREA T A N ,
Hrae Here (T 3 G o e o gro e
Hd &

(a) 9T

(b) TSI o T

(c]ﬁﬁﬂﬁ'ﬁi’ﬂ

(d) Thed b ot
@mmmmmhmm%ﬁ
=% fore Prafa stfuwan g™ &M

(a) 249 1 (b) 30% 1

(c) 158 1 (d) 20% 1

. e Tomw A g 1orﬂ.%aﬂtmﬁﬁ_ﬂﬁ
,:40 qf, g, 1 a1fa I (super elevathﬂ)

SRR T 7 |
(a) 25 (b) 20
(@50 (d) 40
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81,

82,

83.

50. Fbllowmg errors are elimi

nated during

reciprocal levelling
(a) errors due to line of collimation
(W) errors due to curvature only
(c) errors due to refraction only

(d) error due to all above

As per IS 10500 : 2012, the maximum
desirable limits of iron and fluorides for
drinking water are

(¢) 0.3 and 1.5 Mg/L, respectively

; (p) 0.5 and 1.8 Mg/L, respectively

(c) 0.3 and 0.5 Mg/L, respectively
(d) 0.3 and 1.0 Mg/L, respectively

Hypsometry is a method of
(a) finding temperature at different height

~ (b) determining elevation based on the

boiling point of liquids
(c) surveying of water bodies
(d) measuring distance

Creep is the

" (& lateral movement of rail

84

85.

- (a) less than 1

(b) difference in level of two rails
(c) longitudinal movement of rail
(d) vertical movement of rail

The minimum size of grit particles that can’

be removed in grit chamber is
(a) 0.20 mm (b) 0.50 mm
(¢ 0.05 mm (d) 0.10 mm

When the recirculation ratio in & 'hlit]l z::g
trickling filter is unity, then the recircuia

factor is ' FEIR
(b). zero

(d) more than 1

(c) 1

Bourdon gauge measures
(a) local atmospheric pressure -

.~ (b) standard atmospheric prgssurc |
777 (¢) absolute pressure g '
' (d) gauge pressure

80.

81.

82.

83.

84,

85.

- 86.

-15-

Bt

(a) T @1 % HHT Ff
(b) =TshaT % HR I

(c) a=E 3 T IR
(@) F 3 aft R

IS 10500 : 2012 A < IFER 6 & wrf
¥ fu e (M) N wARES N Afmm
i o a2

() 0.3 3N 1.5 fir.7m. /<A,

(b) 0.5 3R 1.8 fam. /.

(c) 0.3 3 0.5 foram. /<ft.

(d) 0.3 3 1.0 fram. /<.

et w fafa 3 s

(a) Frfr=T JaT$ QX aTg AT

(b) 5a1 % FEUTH 6 AU W H=g 1 Frufor
(c) et TAepTal <1 WAEVT AT

(d) gft T

IR

BESEIRUFCERIT

(b) Q T &% WA H I
[c)iﬂfﬂiﬂiﬂﬁﬂﬂﬁl

(d) & Y si=Ey Tia

fire Jvar # =gam R # e T} ! fAeTen
I Ghdl 6-002 0-2

(a) 0.20 fa.s. (b) 0.50 f.HL.

(c) 0.05 fa. 1. (d) o.10 faf.

e seaer Rewfem oFa A G TREEw ST
T 2, O O oREew wRE A

(a) 18 %1 (b) A

(1 d 19
T A e

(a) TuT STgHesE GO

(b) T STEed T (
CWHEEE :

(d) ¥t gaTE



87.

88.

89.

90.

91.

92

93.

A 4 hr. storm with a uniform intensity of
1.5 em/hr produced a runoff depth of 40 mum.
The average infiltration rate during this
storm is

(a) 6 mm/ hr
(c) 4 mm / hr

(b) 7 mm/ hr
(d) $ mm / hr

Due to which pfoperty of mercury, it does
NOT stick to glass ?

(/) Cohesion
(b) Adhesion
(c) Viscosity

(d) Surface tension

Calculate the super elevation to be provided
on the horizontal curve of radius 100 m.
Design speed is 50 km/h and the design
coefficient of lateral friction of 0.15 is fully
developed.

(a) 0.337 (s) 0.047
(c) 1.0 (d) 0.917

A rectangular block 2 m long, 1 m wide and
1m deep floats in water. The depth of
immersion is 0.5 m. If water weighs 10 kN/m?,
Then the weight of the block is

(a) 15 kN (b) 20 kN
(c) 5 kN (d) 10 kN

For analysis of direct runoff from a hydrograph,
the relation N = 0.827A%? is used. In this,
the value of area ‘A’ is taken in units as

(a) Km? (b) ha?

(c) Cm? (d) m?

Which of the following methods of designation
of crossing is mostly used in India?
(a) Isosceles angle method o

(b) Centre line method

(c) Right angle method

(d) None of the above

An angle measured with theodolite is g with

it _ 3 a/
weight 2. The weight Vof /4wﬂl be
-4
b) 5
(@ 2x4

(@) 2 x 4%

© %

VAN

. Y 6o-Yo = 265 9
‘ﬁb\? s ey
6-0 ‘7"'5%;5\ "MEEST - 04
—1230

87.

88.

89.

91.

92.

93.
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1.5 8ft /9 N I ST F T 4 92 %
TEA A 40 T, ff. 6 31qarg wEwE w1 I@reT e
21 T8 TBH % A 3iag gEdS (infiltration)
TR

(@) 6. ydar () 7R/ H@

(c) 4 fa, 7 uar (d) 5P, /aa

9R % HH A 07 % AW, 98 Fi9 d T Fwwa
2 i,

(a) & exg= N2

(b) ATESH 17,3.8.‘

(c) @HEAT SY RS - D15
(d) T3 &1 123 tlyg

1oorﬁ.iﬁﬁm%&?ﬁaaﬁmmﬁmﬁ
arefl STRNeI™ (super elevation) <l 0T H
fesmza hy fey 50 fob. Y. /aar & 3 0.15 & uivd

udu 1 feansa ons gl e | fawfaa 21
(a) 0.337 (b) 0.047
(c) 1.0 (d) 0.917

TF JEareR fug 2 f, o, 1@, e au
170, e vt & G R, g g wwd 0.5 9. &
Ife arft &1 W 10 kNP, Y Riog @1 sy e

B 7 2% \*o05 = %
(a) 1S kN (b) 20 kN
(c) S kN (d) 10 kN
TH EESITE A W@E Aars frver 3 gy

N = 0.827A%*%1 I9g1 TR wimam 2| gt drreet
‘A% foe rd Bt R

(a) fo5.1f1.2 (b) &F2.2

(c) H.3.2 (d) #.2

WA § HA-a1 BT stftresiy wdim g 2 7
(a) WHigETE SR fafy

(b) s T fafy

(c) Tu=mi fafy

(d) 390 & | B8 TE
Reigiese & 791 R o Hror g 2 F @9 e
1 %% B W e g

) 5

(d) 2x4



54, Calculate the capacity (veh
" the road when reaction time of the g
2 seconds. The design speed is g km
average length of the vehicle is 6
coefficient of faction is 0.35,
(a) 700 (b) 724
(c) 600 (d) 653
g5. What is the relationship betwe

en the flyi
~ height (H), the focal length (0, the a‘;rﬂg;rgg
- (B) and the photo base (b) ? e

icle per hOur) of

fiver ig
Phand
m. Take

i b H
e f.H @ B bf
B bH
B= — i1

() b 1 (d) B =

96.. According to recommendations of the Nagpur
Conference, the formation width of an Ideal
National Highway is
(a) 09 m
)12 m

(b) 07.50 m
(d) 13 m

97, If a turbine develops 2515 kW at 240 rpm,
the torque in the shatft is
(a) 1000 kN-m (b) 100 kN-m
(c) 400 kN-m (d) 3335 kN-m

98. If the intensity of rainfall is more than

the infiltration capacity of soil, then the
infiltration rate will be

(a) more than the rate of rainfall
(b) more than infiltration capacity
(¢) equal to rate of rainfall
(d) equal to infiltration capacity
9. Ifina gradually varied flow dy/dx s positive,
~ thendE/dx
. la) is always positive
(b) is always negative
_(F) is negative, if Y > Ye
i{d)-is positive if Y/Ye > 1

Froude law criterion in terms of length s

(b} Lrl.s.f g

@

1 time ‘scale ratio for a model based on’

94,

95,

96.

97.

98.

99.

100.
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Tzt gl (e Wi UeT) B T v g
=1 ufafr @ 2 98 ¢ | TS il 80 frafy,
gy g1 & i A < T T 6 e R i
¥ Torieh W W 0.35 2l

(a) 700 (b) 724

(c) 600 (d) 653

gem = (H), 0 (focal) T (), &aT§ 3mum (p)
U1 FIA YR (b) H 1 T ] 7

(a) B”;ﬁ (b) B=%

f b.H
(Bt ) BS=
TR T T TG F IFER ey wdy
m%ﬁnﬁw:ﬁaﬁg@ &.jgég
(a) 09 H. (b) 07.50 . Zue
(c) 12 =, (d) 13 . =

Th THIET 240 IR.A.W. | 2515 framame
st TR ok P @ 2

(a) 1000 kN-m (b) 100 kN-m

(c) 400 kN-m (d) 3335 kN-m

ﬂﬁ oy (rainfall) ® dtsren 7 F I
%l:#ltmtion) ufear @ afes 2, @ =A@ @
l
(o) T 7 A e e
(b) a0 ofgn @ afuws
{c) T @ & wwa

(d) F=:51 afear & oA

R Rt P g 3 iyl T 8, A E/dx
(a) B T B 2

 (b) T e B R

(o) = Ear 2 af v > Ye

9) wmer g A y/ve > !

StoE Q¥ g Le F 9 A S I
(Froude law) wrds w SHTRa ﬁm%‘;m

-



101.

102.

103.

104.

105.

106.

ST SR e e

: imum | 101.
etical maxt!
What will be the tlllacgg of highway if the
capacity for & single gtream 18 40 kmph ?
speed of the traffi | osox 4P
(round off 10 units) -
() 2510 vehicles/hr:
(b) 2010 vehicles/hr:
(c) 3000 vehicles/hr:
(d) 2860 vehicles/hf.
According to Lacey, depth of scot;l;tlll; ?cl;;z;if 102.
depends upon the straightness 01 11 e .
If ‘D’ is the depth of scour 1l regime flow 1n
a right angled bend, then it 1s equal to
(@) 1.75 D (b) 2.00D
(c) 1.25 D (d) 1.50D
The critical condition for stability of slope of | 103,
an earth dam at down stream will be
(a) Reservoir full without pore water
pressure : -
(b) Reservoir empty with max. seepage
(c) Reservoir full with max. percolation
rate 5
(d) None of the above
The ratio of the quantity of w :
the root zone of the crotgs to‘fﬁ?&f;g{fg, 10r} 104
::.ter actually delivered in the field is known
(a) water use efficiency Fivde
(b) water conveyance efficiency .
(e} water application efficiency
(d) none of the above
The Bernoulli’s equation ; i
for 1 e appllcgble- only | 105.
(&) Inviscid, incompressible flow -, ;
(b) Compressible flow o
(c) Irrotational flow
(d) Viscous flow
The field capacit < Ao
permanent wiltin Y of & sojl. is' 250
1ent Witing point jg 15o, <9, its | 106,
. dry unit weight is 1,5 °and g
p . If the " Specific
zone of a crop is 80 cm, the . de th of ;
ofthesallis & " h° Stdragaaat 1006
Lo -8pacity
(8) 12 cm b g s
(c) 8 cm (d) &
10 cm s -“.'Tl“ :

-18-

EEST -
U T -9 g o e —
o e i 0,
)
(2) 2510 arE /52 C =1Qo0Y
(b} 2010 amEm /ey
(c) 3000 =& /Her
(d) 2860 9rE /HeT

A & aEw, @ F o A e
A 0 Tk By < v s
Wl yarg # whiew i e §, @ 7

F TR 2| RS

(a) 1.75D
(c) 1.25D

& gt & sty & A B % o H R
1 i feufr geft af

(a) TFT OR AT 6 STEE W S

(b) e T % g Fewd T

(c) TRrehal 3TV T h WY FARH A
(d) ST & ¥ HiE T
q,—gaa;agaaqnﬁﬁwmwa‘mﬂahm
ﬁ,ﬂmﬁmw@,mwﬁmg
(a)‘-TFﬁI{q?ﬂ’TQ&’I'ﬂT

(c) Y ST TE
() ST A HE T

(b) 2.00D
(d) 1.50D

¥ fgal

(a)gqﬁfag,mirﬁ%am
(p) ffea FETE
(c)gﬁmm
@W@@amzs%%,m:ﬁfﬂ
g 15% & ol R T T L g
» ﬁ:@ﬂmﬁasﬁiiﬂmsocm ’
) sigru & & o
(@) 12 %0 (b) 14@1’( u
(c)B‘ﬂTﬂ | (@ 10 ‘l‘%
70 7170
Loty “10719/ |2



107-

108.

109.

110.

12,

113,

A hyetograph is a graphical representation of
(a) Discharge and time —R\\d}m <
(b) Commutative rainfall and time

(c) Rainfall intensity and time

(d) Rainfall depth and time

Ona hydrograph, isolated storm is
represented as

(a) multi peaks |
(c) s-curve

(b) cofnplex peak
‘(‘;) single peak

The similarity between the forces of model
and prototype is »

(a) Kinematic similarity

(b) Design similarity

(c) Dynamic similarity

(d) Potential similarity

An approximate value of the drag coefficient
of a hemispherical parachute is

() 0.30 (b) 0.07
(c) 2.35 (d) 1.33

LSt{rfe;thuteqsigq_for an ideal fluid is
(a) infinite

(b) zero

(c) dependent on temperature

(d) one

Rheology is the study of
(a) Non-Newtonian fluids

L(b) Newtonian fluids

(c) Ideal fluids
(d) None of these

If the impeller of a pump receives liquid on

both of its sides the pump is known as

(a) Single suction pump

(b) Double suction pump
(c) Single stage pump
{d) Double stage pump

107,

108.

109.

110.

111.

112.

113,

-19-
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ErimE (hyctogmph) ua etk wftete g
(n)ﬁéﬁmm

(b)zﬁmﬁ‘lmﬁ‘ﬂﬂ‘mm

() for mgwrd A H

S 8
(a) 7E RIET

(c) T -ah
Ttz ﬁnﬁr&a’gﬂ*ﬁﬁ'f (forces) ¥ H o= &

(d) FTer |ATA
waﬁrﬁammga:gn(drag)mm
AT A 8

(a) 0.30
(c) 2.35

T ey At e & g g8 @ (Surface
tension) &

(a) I

(b)

(c) TTOHH T iR wE
(d) &

ittt 1 AT 2l
(a) FA-=AFA T

(b) =R W&

(c) et aa

(d) T @ = 7l

(b) 0.07
(d) 1.33

&

(]

% ey S e R 3 QO
R, A v ) E

(&) T por o

(b} R ot wew

(o) e R e

WRRwgm
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114,

@ None of the abdvg |

115.

116.

117.

118.

119,

A liquid flows in a

R —
S S L 53
— 1m\ww&mﬁﬁé}ﬂﬂﬁwiﬂﬁﬂﬂn«._u

: isfies the
Muskingum method of routing satis

€quation

(0 Cy.C,.C, =l

(b) Cy+C +C,=0.
) C,+C,+C,=1

According to Indian standard, the numbext'.
of rain gauge stations for an area o
5200 km? in plains should be

(a) 20 (b) 25
() 10 (d) 15

The Buckingham-Pi theorem is widely used
in the dimensional analysis and expresses
the resulting equation in terms of

(a) (n-m) dimensionless parameters

(b) n dimensionless parameters

(c) the repeating variables

(d) geometric, kinematic

and dynamic
variables

The water balance €quation for
area in terms of rainfal] (P),

' €vaporation (E) and storage (S
as

écatchment
runoff (R),
) is written
@ R=E-P+as
(b) P=E-RtaS
@ R=P-E+as
() R=P+Ex+As

The velocity distribution over one half of g
Cross section is uniform and i

, dis zero Over the
remaining half. The mome

factor for this Cross sectio
(a) 1.0
(c) 2.0

nis
(b) 3.0
(d) 4.0

30 ém diamcfe

a Reynolds number of 108, If th

factor is 0.025, the thicknes
sublayer, in mm is

(a) 0.062
(c) 0.025

T pipe at
€ friction
S of lamingr
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(@) C,.C,.C,=1
(b) C,+C,+C,=0
(€@ Cy+C+Cy=1

(d) IR o | g TE
: mreﬁwwma;%aﬁw, 52001%5.*:ﬁ.wqmE
%m,wm(gﬁm)@mﬁm
(a) 20 (b) 25

@1  “2¥ @1s
: mm&m-mmmmﬂ
ame%aﬂxmmm
w9 8 oy a1 R 7

(@) (n-m) 3 Weq Ty

(b) n AW Wea Wnfrex

(c) QBT I I R

(@) Safireva, nfer 3 fsfier

9 (P), TR (R), e (E) 3R sizrm (3
%ﬁaﬁ.ﬁmﬁa%ﬁmmmm
* ¥ & foran v 2 tre — pog-R
(@ R=E-P3ag

BP-E-Rias  as-ptea-f
(C)R=P-EiAS . (AS
(d)R=P+E:I:AS
?ﬁ?ﬁ?m*mmm%ﬁaﬂ@i‘g

: m“"‘“?ﬁé;m

%%Q“émﬁ‘mmg ,
(@) 1.0 >
) 2,0 (b) 3.0

e (d) 4.0
:;m.ﬁ@lloﬁm 30-@*%%“&?
ﬁﬁjﬁfmmgq& FF 0,025 &, @
0062 £ (bj: 0.0031

(¢) 0.025 '

(d) 1.00
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jth reference to lining of a canal which, of £y et 36w & BT H

120. mc'fdﬂm"i“g statement is/are correct 7 120, T &
qeis neccsszlry to minimise the seepag e ?
in canal. . € i
105:,51 th, bty i.mﬁmaﬁ;aﬁﬁﬁﬂmmﬁ
ji, It increases the discharge in canal ' : ,
section by increasing the velocity. (i, =gl T TS 3 fdg = 7gm |
gelect the corTect answer using the code 3 folt T RIS T qﬁ IR T
givcn‘-below : _ S . _ >t
(a) Both iand ii (b) Neitherinorii ARESRY el (b) T4 3ART '@ i
() Only i (d) Onlyii () o i (d) Fa if
421, If the sequent depth ratio of a hydraulic | 121 . mﬂTéﬂﬁaﬁﬁmW?ﬁm
jump in & rectangular channel is 16.48, thg Pl 48% I8 I IR DR
Froude number at the beginning of the jum TeUs 16.48 2 T (Froude) - |
is P TEI R 'ﬁfc—'f‘]'”'ﬁ" Fo, = |
(a) 10.0 (b) 12.0 (a) 10.0 (b) 12.0 Ji5+¢8
(c) 5.0 (d) 8.0 - () 5.0 £ '(d) 8.0 |
122. A check damis a 122, T f’ﬁ @iy (check dam) BT 2
(a) river training structure (a) € TFIET AT
(b) water storage structure (b) Tt SR stCEll
(c) flood control structure (c) 1@ frgeaor /=
(d) soil conservation structure (d) g HTEoT HOEHT
123. Which of the following is dimensionless ? | 123- frfiad # & FF ITAFEA & ?
(a) Specific viscosity (a) farfiree fagfaarge
(») Specific gravity (b) faf¥re T
(c) Specific weight () fafire @
(d) Specific volume (d) faferee =m0
124, Ina rectangular channel, ifthe critc® depthis | 124 T STRATH e 1 R it e 2,0 2,
2.0 m, the specific energy at critical depth 1S A srifers Tred W R 91 2 (B SL
() 20 m (b) 2.5m (a) 2.0 . b) 250 7o
. ©30m @ 15m () 3.0 rﬁ (d) 1.5
s ; 125. TF FUamH : A A A
*1?5. ]‘:n the centrifugal pumps, t].:le Eulers head nﬁ; gy | '{@'H ?ﬂ'& = %
i is independent of the following () B = =l i
G (a) Outlet velocity of triangle (b) =Tat ot TR /AT
e ((b; Outer angular momenturm T I e
¢) Inlet radius of impeller G
(d ared B
. (d) Outlet radius of impeller | : .-) S e et



